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Time: 10 Minutes Paper English 8 (T-1) Total Marks: 10

4th Month, 3rd Week, 3rd Day
Syllabus: Unit # 8: Vocabulary and Grammar Dialogue: Between two friends
discussing about a cartoon movie
Q.No.1. Choose the correct option. A3)
1. Thereis a garden my house. Choose correct compound preposition.
|(a)| according to |(b)| instead of |(c)| in front of |(d)| at top of |
2. Sana is good to plaving tennis. The underlined word is:

(a) gerund (b) present participle
(c) infinitive (d) none of these
3. Inindirect we change present continuous tense into:

(a) present continuous (b) simple past
(©) past continuous (d) present perfect

4. In indirect we change "may" into:

|(a)| could |(b)| might |(c)| should |(d)| may not |
5. Inindirect we change "ago" into:

| (a) | before |(b)| after | (c) | then |(d)| here |
6. He said, "I am driving a car." Change into indirect.

(a)| He said that he was driving a car. [(b)| He said that I was driving a car.
(¢)| He said that he is driving a car.  |(d)] He said that he was drives a car.
Q.No.2. Change the following sentences into indirect form of speech. A3)
¢ He said, "They never arrive on time."

e Afshan said, "We are not going to the library."

e He said, "I have been sick all week."

Q.No.3. Write a dialogue between two friends discussing about a cartoon
movie. 4
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